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Sr Questions Answers Choice

1 In developing countries, now growth rate of population is:
A. Slow increasing
B. Steadly increasing
C. Very slow
D. Slowly becoming slow

2 In developed countries of the world, both birth and death rate are:
A. Very fast
B. within control
C. Not in control
D. Very slow

3 According to hypothesis of Herman Kohan, the Earth can bear:
A. Easily 10 billion population
B. 15 billion people can live easily
C. 6 billion population can live easily
D. 25 billion population can survive

4 In 1900 A.D., world population was:
A. One and half billion
B. Four billion
C. Five billion
D. One billion

5 When did world population became 80 crore:
A. 1750 A.D.
B. First country A.D.
C. 10th century A.D.
D. 500 years before Christ

6 At the time of first century A.D., world population was:
A. 50 lacs
B. 30 crores
C. Two billion
D. One crore

7 At the time of agricultural revolution, world population was:
A. One billion
B. Only few lacs
C. About 80 lac
D. 20 lac

8 Several hundred thousands years before, the growth of population was:
A. Very fast
B. Near about zero
C. Extremely very fast
D. Negative

9 According to the experts on the surface of Earth the man is:
A. Living since 15-20 lac years
B. Living since 50 lac years
C. Living since crore's years
D. Living since many lac years

10 Population of China and India is:

A. 50 percent of the World's total
population
B. 38percent of the World's total
population
C. 25percent of the World's total
population
D. 70percent of the World's total
population

11 Distribution of population in the world:
A. Is extremely uneven
B. Is not uneven
C. Is uneven
D. Is even

12 Close population is that population, where:

A. Migration does not take place
B. Migration is in progress
C. Migration take place occasionally
D. Migration is due to any
disturbance

13 Natural growth in population of any region/country becomes:

A. Due to migration of people

B. Due to death of people
C. Due to birth of children
D. Due to birth and death of people

14 When did world population became 6 billion?
A. 12th October, 1999
B. December 2000
C. January 2004
D. June 1995



15 For nomadic and commercial herding

A. Grasslands are very important
B. Deserts are very important
C. Equatorial regions are very
important
D. Monsoon region is important


